Best model for HELP_J143515.278+331738.570 atz = 1.104 x%=6.15
OPTx?=5.74 IRx?=9.99 threshold (OPT IR)=16.83 [um]

2 1 : Stellar attenuated
10 3 S Stellar unattenuated
—— Dust emission
g . —— AGN emission
10! . ;l = Model spectrum
E - ® Model fluxes
] M oObserved fluxes
— 1004
> ]
- -
S 1 ot :
'~ 107! 4 O :
x Jgrgmmypy- 1 :
=] 11 1 -
e ] N
1072 3 :
1073 3
_éo_4 E
© 1 == (Obs-Mod)/Obs
3 ]
S
n
] o e e i e e T ] e —————————————— -
— 1 -
) ]
2 ]
5 ]
('_U _1 T T cME
(V]
[a'd

10° 10! 102 103 104 10 A
Observed wavelength [um]



